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Alcohol Testing Program

Date!Out g/i({“ 2

) Registration
Annual
O  Return from CMi

L Return from Enforcement
Electronics

Q0 Other
Visual Inspection:
_Q(ﬁ Case “_‘LHa ndle

cle. Dry Gas Holder ol Feet

OK Keyboard/Plug :012 Back/Plugs
B ¥ Screws tight _Ofe Breath Hose

Other Equipment:
0 Power cord

0O Printer Cable
3 Other

Notes:

a Optlcéi. Bench Calibration N/A
'ﬁ Optical Bench Calibration Complete

Date m,l,Z\Z (= /,(0

"2 Instrument Set Up Verified
)@3 R-Vaiue H’f
Flow Verification {L/s)
Flow Column # /¥TPle &
32mm %5{3}_ (.139 - .169)
3I6mm (.o‘i {.156 - 180}
53mm _2-34  {.228-.278)
103mm _S7 S (447 - .547)
‘]EQ Barometric Pressure Check
Gauge ID#_2¥427

2010804
2/iu i
Zolot F
12018
25 HeoHdl

d[sTE

Ssvot ¥

SHR Y
MNIo2S”

0.08 DGS

XP Breath Tube Screen. & Flow Calibration N/A ‘4? -
&P Replace O-Rings (3 Fow Calibration Comp gg I ﬁZO
Flow Column # 15

e

CoOw

Qship Wp/U OW/o_Qcwi OEE

WU 51/min AIWDLE

O  151/min— 53mm esi‘lng

& 301/min —103mm mgf‘am

R-Value
Post Calibration Verification {L/s)
Flow Column#__
32mm {139 - .169)
36mm {.156 - .190}
53mm (.228 - .278})
103mm (447 - .547)

Battery Replacement

Dry Gas Regulator Replacement
Breath Tube Replacement
Other

WA

&3@95 3ol
=26

rometric Pressure Gauge {O{C  ID# 246932

ot AT

Barometric Pressure

Gauge
Instrument

1 oI
fecy

Mouth Alcohol Solution Lot # ] 5 - K

0.000 R127 S N/A N/A Acetone Stock Solution Lot # _ Z0jle ~13
0.040 QL ere | 2 l?—{"‘ff T &% A
0.100 (3 2ot ¥ Leoe | 51 {] 1Y interferent A s14Y
0.200 GzdoY  |)siey 512907 || oes 61159
0.400 G535 | oz a8 || oo A fiug
0.080 DGS | N/A o3drseyom| 3 sh7 || [020 Gzt

B Post Calibration Stability Checks

0.05 G713y 2orSn7 A ¥ }M[r? 1 Form 41 Optical Bench Cal
0.08 A, § W44 1O ™ i / 2|1 & Pre-Stability Tests & Post-Stability Tests
0.20 A vzl Zoleoue. dql<hig L Flow Calibration O Other

0.08DGS | N/A 26 d bz oy C’i Ahy

Notes: Q@/f?&(‘ OE (Wﬂ
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